TI5- JIeeT] 1L - ALY ST Al TLAF 099
BT Sl ifels e
TSI AT S TS ST FNG

FoER: g (V8- b @) IR S T! v GG
(1ET): (050 A):
Name (In English): Registration No:

[42 Teavitas fWME B Tes o740 203 1 LTOR Gy 7I2S Foe IR I 0 IR ©f Tl e
(A | T AT BLAGNCS (TR AT | AN e ey Saaoi@ &1 s 24 1]

<R

S

e

o

12 SICFA G0 RTSE A4 Q3R 11 SGHA (&G IRAF W ALy 71wy T
(O AA?

What is the minimum difference betweerla digit odd number and &1 digit
even number?
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In a box there aré20 balls of20 different colors. What is the minimum number
balls one need to pick so that he can be surewhfat least two balls of san
colors?
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A is three digit number all of whose digits are elifint.B is a three digit numbe
all of whose digits are same. Find the minimumettéghce betweefA andB.
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A is the product of seven odd prime numb£rsB is a perfect even square. Wh
is the minimum number of prime factorsi®?

83438 F2TIfBrF Treb! B TS OF2 AMF | @ R ITATICE GINGT AT € @
Y W0 GINGT *1¥ 61 T | (@ANF- @S, 101, 1234321519 92

A FORTE! AT R I BINGT 537
A palindrome, such a883438, is a number that remains the same when its digi
are reversed. How many four digit numbers are abh@gromes?

ez, a1 wig wfcad arerece fonit F6a A7 e Ie0 =61 *1© T- &Aroeaa
YN ¢ PO AN UBA T Sy TRANT faeel 20e T @R el AT @A
DO AT 2 T RS I | (AT o1, Fiega ez s1ea B s e ooen 2
=I5 < B fasiy et wifcas fadi ey (5ed 2 (=@iB 1 foam worw G 15
T IR 2L R F9?

Each of Rinku, Tiya and Abir are asked to chooseemumbers so that the st
of the third and the first number is twice the setone and the third numberads

greater than the second number. It was observedhthaecond number of Rink
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is 2 smaller than the second number of Tiya and thermeaumber of Tiya i®
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smaller than the second number of Abir. If thedmumber chosen by Tiya i%,
find the first number chosen by Abir.
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A four headed monster h&8 children. He wants to give a different name tohe
of his children. The names will consist ®fEnglish letters and one letter can
used more than once in a single name. What is thienim number of letters th
monster must use?
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Abir started at 9:30 pm from his house to go to &ayhouse. When he reach
there, he saw it was 8:55 pm in Nayel’s clock. Itated back towards his hou
when it was 9:00 pm at Nayel's. He reached at bissh when it was 10:15 pm
his clock. If Abir needed equal time to go and cdraek, find out the number ¢
minutes Nayel’s clock is slow by.
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ABC is a triangle withAB = 4, BC =5 andAC = 3. O is the midpoint oBC. A
line from O parallel toAC meetsAB atD. E is onDO so thatDbO = OE andD
andE are on opposite sides BE. Find BE~

do.
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The diagram above shows the various paths alonghwhir. Baizid Bhuiyan
Juwel can travel from point Teknaf, where he igaskd, to point Tetulia, whe
he is rewarded with a food pellet. How many différg@aths from Teknaf t
Tetulia can Juwel take if it goes directly from fhekto Tetulia without retractin
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any point along a path?
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